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Ideals for irreducible component#ﬂ)f Xpar

It = (—u'® — 5u® — 4u® 4 8u” — u® — 16u° + 19u* + 20u® — 15u? + 2b + 5u + 4,
—3ut® — 100 — u® + 140" — 17u® — 170’ + 47u* + 130> — 2502 4 2a + 18u + 7,
utt 4+ 5u'® 4 6u” — 4u® — 3u” + 14u8 — 5u° — 30u? — w4 9u? — 10u — 4)
I = (—u® +4u® + b — 3u, u® —5u® +u® +a+6u—3, u” —u® —5u® + 5ut + 60> — Tu? +u+1)
I3 = (b, a+1, u+1)
I'=(-a*+b+a+1,a*+a*>—2a—1, u—1)

* 4 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(—u®—5u+-.-4+2b+4, —3u®—10u®+---+2a+7, 't +5ul04...—10u—4)

(i) Arc colorings

ag =

iulo %u9+-~ —%u—
a4 = —%ulo—%u9+~ —|—gu+1
—%ug—éus-i-” —&-éu—&-%
ag = %u10_|_17u9+”._?3u_6
—ium—%ug—k-n—%u?—k%u
asz = —%ulo—%ug—i— —|—gu+1

a7 =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —7u'0 — 2502 — 6u® + 36u” — 35u8 — 50u® + 113u* + 43u3 — 65u> + 46u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ utt = Tut? 2042
€2, C3, €7 ult + 14u° + 4u® + 4607 + 67ul — 66u° — Tut — 30u® — 9u® — 3u — 1
cy
Cyq,C8 Wttt —du—1
€5, C65 C10 w500 . —10u—4
C11
c12 u't —3u'® + - — 3192u — 576




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ y't —31y"0 4 200y — 4
C2,C3,C7 y11+28y10+—9y—1
Cg
c4, Cg gt 1Ty 24y — 1
€5, C6, C10 gl —13y1° ... 4172y — 16
C11
c12 yt 4+ 67y + - 4 7508160y — 331776




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u= 1.18814
a= 0.348347 —b5.45154 —15.3520
b= —0.566087

u= 0.651462 4 1.0637501
a= 1281578 +0.656421
b= —1.77237 + 0.066091

12.65630 — 3.456181

—10.65599 +- 2.108851

u= 0.651462 — 1.0637501
a= 181578 —0.656421
b= —1.77237 — 0.066091

12.65630 4 3.456181

—10.65599 — 2.108851

u= 0.496165 4+ 0.5392011
a = —1.042860 — 0.6618411
b= 1.138470 — 0.3577311

2.08534 — 1.865361

—10.69284 4 5.334471

u= 0.496165 — 0.5392011
a = —1.042860 + 0.6618411
b= 1.138470 + 0.3577311

2.08534 + 1.865361

—10.69284 — 5.334471

u = —1.53157 + 0.152031
a = —0.354779 4 0.5873631
b= 1.12977 +1.060111

—4.66784 + 4.309391

—14.0390 — 6.90851

u = —1.53157 — 0.152031
a = —0.354779 — 0.5873631

—4.66784 — 4.309391

—14.0390 + 6.90851

b= 112977 —1.060111

u = —0.330126

a= 0.768686 —0.487897 —20.3390
b= —0.139205

u = —1.64929 + 0.395221
a= 0914271 — 0.8731331
b= —1.77328 — 0.213951

5.23140 + 8.933461

—13.21655 — 3.593941

u = —1.64929 — 0.395221
a= 0.914271 4 0.8731331
b= —1.77328 + 0.213951

5.23140 — 8.933461

—13.21655 4 3.593941




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u = —1.79155
a= 0.218139 —16.4464 —7.09980
b= —0.739878




IL. 1Y = (—u® + 4u® + b — 3u, u® — 5u® +u? +a+6u — 3, u” —ub — 5u° +
5ut + 6u® — 7Tu? + u + 1)

(i) Arc colorings

—u
a6 = \ —ud +u
—u? +1
a12 = \ —y* 4 202
u? 3u2+1>
—ud +5ud —u? —6u+3
ag = u® —4u3 + 3u
—uS +uwd At —5ud — 2+ Tu—4
a4 = ut —3u?+1

—2ub 4+ 2u® + 10u* — 10u® — 11u? + 1du — 4
ub — 5ut + u® + 6u? — 3u

—u6+u5+5u4—5u3—5u2+7u—3)

as = ut —3ut+1
ud — 2u
a7 = \u® —3u®+u
—u® +5u’ —u? — 6u+4
ag = —u? + 2u

(ii) Obstruction class =1

(iii) Cusp Shapes = 2uS — 2u® — 12u* + 5u3 + 16u? — 3u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u” —6u +12u° — 11u* 4+ 7u® — 3u? — 1

C2,Cy W —uS 4w’ — 2t — w41

c3,C7 w4ul w2t w1

C4,C8 w2+ u—u+1

cs, Cg w4+ ub =50 —sut+ 60+ Tl +u—1

€10, C11 w—u =5 +hut+6ud — Tl +u+1
C12 w’ —5u + 7w’ —sut — 4w — T +5u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 y" —12y° + 26y + 11y* — 29y — 319% — 6y — 1
C2,C3,C7 y7+y6—3y5—6y4—2y3+3y2+2y—1
cy
Ca, C8 yT—2° = 3y° + 2" + 6y +3y° —y — 1

C5, C65 C10 y" — 11y° +47y° — 97y* + 98y — 47y + 15y — 1
C11

c12 Y — 11y5 — 9y° — 141y* + 269> — 79y% + 39y — 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.602602 + 0.3660971
a = —0.802378 — 0.9588021
b= 1.74200 — 0.230951

u =

3.42389 — 1.231751

—6.47743 + 5.111601

u = 0.602602 — 0.3660971
a = —0.802378 + 0.9588021

3.42389 4 1.231751

—6.47743 — 5.111601

b= 1.74200 + 0.230951

u= 1.50894

a= 1.02523 —10.4234 —15.1670
b= —-1.39324

u = —1.59539 + 0.149161
a = —0.285687 + 0.5119631
b= 1.59460 + 0.652141

—4.17528 + 3.267751

—10.72162 — 1.021807

u = —1.59539 — 0.149161
a = —0.285687 — 0.5119631

—4.17528 — 3.267751

—10.72162 + 1.021801

b= 1.59460 — 0.652141

u = —0.293328

a= 454991 —4.14361 —17.95280
b= —0.781203

u= 1.76997

a = —0.399006 —16.8289 —28.4820
b= 0.501243

10



(i) Arc colorings

ayq =
a9 =
as =

a7 =

o ()

(ii) Obstruction class =1

(iii) Cusp Shapes = —24

III. I} = (b, a+1, u+1)

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u—2
C2,C4,Cg
C9, €10, C11 utl
C12
C3a C5a 06 u — 1
Cr

12



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1

C2,C3,C4
Cs5,Cg, C7
Cg,C9, C10

C11,C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ V—1(vol + v/—1CS) Cusp shape
u = —1.00000
a = —1.00000 —6.57974 —24.0000
b= 0
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IV.I} =(—a®*+b+a+1,a*"+a*>—2a—1, u—1)

(i) Arc colorings

ag =

a2
a4 = —a3—a2—|—a+2)

—a—2

a®—1
—a®+a+2

—a®—a’>+a+2
a7 =

—a®+a+1

ag = \ 2a3 —a —2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u? +u—1)2
C2,C3,C
253,07 ut —ud 20 —du+1
cy
Cyq,C8 w4t —2u—1
Cs5,C6, C10 (u _ 1)4
C11
C12 (u + 1)4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ (v — 3y +1)°
€2, €3, €7 vt +3y3 -2y — 12y + 1
C9
C4,C8 y4—y3—|—2y2—4y—|—1
Cs5,C6, C10 (y _ 1)4
C11,C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape

u = 1.00000

a= 115372 —5.59278 —14.0000
b= —-0.618034

u = 1.00000

a = —0.809017 + 0.9815931 2.30291 —14.0000
b= 1.61803
u = 1.00000

a = —0.809017 — 0.9815931 2.30291 —14.0000
b= 1.61803

u = 1.00000

a = —0.535687 —5.59278 —14.0000
b= —-0.618034
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V. u-Polynomials

Crossings u-Polynomials at each crossing
e (u—2)(u? +u—1)*(u" — 6u’ + 12u° — 11u* + 7u® — 3u? — 1)
(Mt =Tt 20+ 2)
¢z, Co (u+1)(u* —u® +2u® —du+ 1) (u” —ub +u® — 2u* —u?® 4 1)
(w4 140 4 4u® 4 460" + 67ub — 66u° — Tut — 30u® — 9u? — 3u — 1)
cs, Cr (w—1)(u* —u® + 2u® — du+ 1) (u” +ub +u® + 2u* +u® — 1)
(w4 140 + 4u® 4 46u” + 67ub — 66u° — Tut — 30u® — 9u? — 3u — 1)
¢4, Cs (u+1)(u* +ud —2u—1)(u” —u® —2u® +u? —u+1)
St e —du— 1)
cs. (u—1)°(u" +ub — 5u® — 5u* + 6u® + Tu® +u — 1)
(ut +5ul 4~ 10u — 4)
10, C11 (u—D)*(u+1)(u” —u® — 5u° + 5u* + 6u® — Tu? +u+ 1)
(M 4 5ul0 4 — 10u — 4)
e1a (w+1)°(u” — 5u’ + Tu® — 5u? — 4u® — Tu? + 5u + 1)

(' = 300 4 - — 31920 — 576)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (y—4)(y* =3y +1)*(y" —12° + - — 6y — 1)
Syt = 31y" 4 - + 200y — 4)
> 4 3 2
C2,C3,Cr (y—1)(y" +3y° —2y° — 12y + 1)
© WY 2y - D 28y =9y - 1)
C4, C -1 =+ 2% —dy+ D)y =2+ —y—1)
Mt 1Ty 0 4 24y — 1)
€55 €65 C10 (y — 1)5(y" — 11y° 4 47y° — 97y* + 98y> — 479 + 15y — 1)
cn Syt =13y 4 -+ 172y — 16)
1 (y —1)°(y7 — 11y° — 9y° — 141y* + 26y° — 79y> + 39y — 1)

(yM + 67y + - - + 7508160y — 331776)
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